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Note : (1) The candidate has to answer all 15 questions.

(2) Each Section has Five Questions with internal choice.
(3) Each Question carries 10 marks. -
(4) The Question Paper is set in English and translated into Telugu.

(5) The English version will be considered as the authentic version for valuation
purpose.

(6) Write the answers only in the space provided below the each question which is
printed in the Answer Booklet. Any deviation will not be considered for

valuation.
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SECTION -1

1. Explain the various concepts of national income. What are the limitations of GDP in
representing of welfare of people ?

OR

What is structural transformation and explain the nature of structural transformation in
Indian economy ?
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2. Explain the salient features of inclusive growth strategy of Twelfth Five Year Plan.
' OR

_ Critically appraise the objectives and major achievements in Indian economy during
the Planning era during 1950-91.
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3. What are the effective strategies for the removal of poverty ? What is the experience of
different anti-poverty programs in India ?

OR

Make a comparative assessment of superiority of Mahatma Gandhi National Rural
Employment Act 2006 over the previously followed government employment
programs.
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4. Comment on the controversy between the Reserve Bank of India and the Ministry of
Finance over administration of interest rate.

OR
The Central Bank autonomy is important for conducting a consistent monetary policy.
Comment.
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5. What are the objectives of Goods and Services Act and what would be its impact on
economic growth ?

OR

What are the changes effected in tax policy in India after the implementation of the
recommendation of Tax Reforms Committee in 1994 7
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SECTION - 11

6.  Explain the socio-economic basis for land reform policy. Appraise the implementation
of land reforms in the State of Andhra Pradesh.

OR

How can one justify state acquiring land from its citizens ? Critically appraise the
changes in the policy of compensation.
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7. What are salient features of the micro-finance model of linking self-help groups with
- the scheduled commercial banks for' women empowerment and poverty eradication ?

OR

“Imbalances in irrigation development in the Andhra Pradesh has led to serious
regional inequality.” Examine the statement.
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8. A multi-pronged approach has enabled a drastic decline in the incidence of child labour
in the state. Explain the strategy.

OR
Explain theory of demographic transition. Analyse the factors responsible for

demographic changes in A.P.
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Explain the case of diversion of Telangana revenue surpluses under united Andhra
Pradesh administration.

OR

How did the State of Andhra Pradesh managed to eliminate the revenue deficit during
1997-2005 ?
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Public sector performance deteriorated more due to administrative policies of the state
rather than any other reason. Defend this statement with the help of examples.

OR

Explain how information and communication technologies have enhanced modes of
governance in the State of Andhra Pradesh during.
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SECTION -1

Critically appraise the nature of industrial growth in Telangana in the past five decades
with reference to income, employment and environment.

OR

Even though the industrial growth was concentrated in Telangana region, according to

~ the popular perception, it did not help the people of the region under united Andhra

Pradesh. Appraise the statement.
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Analyse the differences between sources of irrigation between Coastal Andhra, Rayala
Seema and Telangana in the united Andhra Pradesh and their consequences.

OR

Minimum Support Prices are not covering cost of production for several crops. What
are the alternative strategies to address the viability of farming ?
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Critically appraise privatization of education in the State of Andhra Pradesh.
OR

Administration of public health has deteriorated in the last three decades. Examine the
statement and explain the social consequences.
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Institutional credit to agricultural sector has become inequitous in the State. Describe
the nature of the inequality.

OR
Critically examine the decline of cooperative sector in agricultural credit in the State.
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Suggest the necessary policy support for developing a sustainable medical tourisn{ in
the State.

OR
Describe the importance of public transport and communications for equitable growth.
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